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B & kR
=K ek B IR ~ oAl S 7 A 31 H
EREICARD AL ORE RIT T RED LRV T,
M AT 5 Ik A SN
A AL BB o oo AR 5 H 28 H
T oE Ml K ¥2,504,000
% AL Al A ¥2,160,000
NG 1] i 2[m] 5 3[e] ik
S OEZE (FK) ¥2,750,000
() Z7U=Ak ¥2,190,000
(BF) A e
(FR) & = LH L ¥2,388,000
(k) 5 Fh BH 38 REiR
(FR) =418 FIE,

(A) faH oK

¥2.160,000 e
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B & SRR AR
=K ek B IR ~ oAl S 1 A 15 H
EREICARD AL ORE RIT T RED LRV T,
M AT 5 Ik A SN
A AL BB o oo AR 5 H 28 H
T oE Ml K ¥17,290,000
% AL Al A ¥14,753,000
NG 1] i 2[m] 5 3[e] ik
(k) Vi E AR FER
(%) #AYEEAH ¥18,000,000
(k) = H1BA %S ERSIE]
(BR) =) 1144 FEiR
AUt (BR) ¥14,850,000
(B) R H AR ¥14,753,000 e




NI A S

I B
¥ 4 ERBUEE S LR R I RTR A R AT
B & SRR AR
=K ek B IR ~ oA S 9 H 27 H
EREICARD AL ORE RIT T RED LRV T,
M AT 5 Ik A SN
A #L B R o T A 5 H 28 H
T oE Ml K ¥5,165,000
% AL Al A ¥5,000,000
NG 1] i 2[m] 5 3[e] ik
gﬁflj)ﬁbﬁ&%ﬁn‘/#w ¥5.080.000
g@iﬁﬁiﬂ%ﬁ&%z‘/ ¥5.050.000
Z%XIVV:?UVﬁ ¥5,150,000
() & Mt ba 7 ¥5,000,000 e
%}J}iﬁa&ﬂr (BR) FL ¥5.100,000
() R R ¥5.050.000
(BR) AR R G ¥5.100.000
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Bt & SRR R
= ek IR ~ S 8 H 30 H
BRI AFLORERIT T REDO LB TT,
e 4T 5 ik A SN
A #L B R o T A 5 H 28 H
T OE ¥2,366,000
% OfL Al ¥2,270,000
AFLE 5 11E] £ 2[e] 5 3[e] ik
a;);@‘/‘y:ﬂ\/f ¥2,330,000
B (k) LM ¥2.970.000 o
g%ﬁ)gt%%&%ﬁfz‘/%/v ¥9.330.000
N ¥2,300,000
A SRR R ¥2,300,000
}(ff@%ﬁﬂ?ﬁﬂ%ﬁ%ﬁ% ¥2.290.000
() & HAR B & ¥2,285,000
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B & SRR AR
=K ek B IR ~ oAl S 10 A 18 H
EREICARD AL ORE RIT T RED LRV T,
M AT 5 Ik A SN
A AL BB o oo AR 5 H 28 H
T oE Ml K ¥6,922,000
% AL Al A ¥6,500,000
NG 1] i 2[m] 5 3[e] ik
() ot AR ¥6,600,000
(B = s ¥6,650,000
() ik ik ¥6,550,000
() e 5T ¥6,500,000 e
(BR) #% T#s T ¥6,600,000
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B & SRR AR
=K ek B IR ~ oAl S 6 H 28 H
EREICARD AL ORE RIT T RED LRV T,
M AT 5 Ik A SN
A AL BB o T A 5 H 28 H
T oE Ml K ¥8,310,000
% AL Al A ¥8,300,000
NG 1] i 2[m] 5 3[e] ik
() e 4L ¥8,520,000
(') i A ¥8,470,000
() = Ak ¥8,300,000 BeiE
() e ¥8,400,000
(BR) #% T#s T ¥8,450,000




